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dqy iz’uksa dh la[;k % 20 dqy i`"Bksa dh la[;k % 08 

Total No. of Questions: 20  Total No. of Pages: 08 

gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018    

120 

fo"k; %fo"k; %fo"k; %fo"k; % HkwxksyHkwxksyHkwxksyHkwxksy    

Subject: GEOGRAPHY    

(Hindi & English Version) 

le; % 03 ?k.Vs  iw.kkZad % 075 

Time: 03 Hours  Maximum Marks: 075 

ffffunsZ’k%& unsZ’k%& unsZ’k%& unsZ’k%&         
    (i)    lHkh iz’u vfuok;Z gSaA lHkh iz’u vfuok;Z gSaA lHkh iz’u vfuok;Z gSaA lHkh iz’u vfuok;Z gSaA     
                    (ii)    iz’u Øekad 1 ls 4 rd oLrqfu"B iz’u giz’u Øekad 1 ls 4 rd oLrqfu"B iz’u giz’u Øekad 1 ls 4 rd oLrqfu"B iz’u giz’u Øekad 1 ls 4 rd oLrqfu"B iz’u gaaaa SASASASA    izR;sd iz’u ds fy, 5 vad fu/kkZfjr  izR;sd iz’u ds fy, 5 vad fu/kkZfjr  izR;sd iz’u ds fy, 5 vad fu/kkZfjr  izR;sd iz’u ds fy, 5 vad fu/kkZfjr      
                              gSaA gSaA gSaA gSaA     
                                        (iii)    iz’u Øekad 5 ls 20 rd esa vkarfjd fodYi fn, x,iz’u Øekad 5 ls 20 rd esa vkarfjd fodYi fn, x,iz’u Øekad 5 ls 20 rd esa vkarfjd fodYi fn, x,iz’u Øekad 5 ls 20 rd esa vkarfjd fodYi fn, x,    gSaA gSaA gSaA gSaA     
                                        (iv)    iz’u Øekad 5 ls 8 rd izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA 'kCn lhek 30      iz’u Øekad 5 ls 8 rd izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA 'kCn lhek 30      iz’u Øekad 5 ls 8 rd izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA 'kCn lhek 30      iz’u Øekad 5 ls 8 rd izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA 'kCn lhek 30      
                              'kCnA 'kCnA 'kCnA 'kCnA     
                                        (v)    iz’u Øekad 9 ls 12 rd izR;sd iz’u ds fy, 3 vad fu/kkZfjr gSaA 'kCn lhek 75      iz’u Øekad 9 ls 12 rd izR;sd iz’u ds fy, 3 vad fu/kkZfjr gSaA 'kCn lhek 75      iz’u Øekad 9 ls 12 rd izR;sd iz’u ds fy, 3 vad fu/kkZfjr gSaA 'kCn lhek 75      iz’u Øekad 9 ls 12 rd izR;sd iz’u ds fy, 3 vad fu/kkZfjr gSaA 'kCn lhek 75      
                              'kCnA 'kCnA 'kCnA 'kCnA     
                   (vi)    iz’u Øekad 13 ls 17 rd izR;sd iz’u ds fy, 4 vad fu/kkZfjr gSaA 'kCn lhek 120      iz’u Øekad 13 ls 17 rd izR;sd iz’u ds fy, 4 vad fu/kkZfjr gSaA 'kCn lhek 120      iz’u Øekad 13 ls 17 rd izR;sd iz’u ds fy, 4 vad fu/kkZfjr gSaA 'kCn lhek 120      iz’u Øekad 13 ls 17 rd izR;sd iz’u ds fy, 4 vad fu/kkZfjr gSaA 'kCn lhek 120      
                              'kCnA 'kCnA 'kCnA 'kCnA     
                   (vii)    iz’u Øekad 18 ls 20 rd izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA 'kCn lhekiz’u Øekad 18 ls 20 rd izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA 'kCn lhekiz’u Øekad 18 ls 20 rd izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA 'kCn lhekiz’u Øekad 18 ls 20 rd izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA 'kCn lhek    150      150      150      150      
                              'kCnA 'kCnA 'kCnA 'kCnA     
                   (viii)    iz’u Øekad 19 fo’o dsiz’u Øekad 19 fo’o dsiz’u Øekad 19 fo’o dsiz’u Øekad 19 fo’o ds    ekufp= dh iwfrZ ls lEcfU/kr gSekufp= dh iwfrZ ls lEcfU/kr gSekufp= dh iwfrZ ls lEcfU/kr gSekufp= dh iwfrZ ls lEcfU/kr gSA A A A     
Instructions: 
 (i) All questions are compulsory.  
                       (ii) Question No. 1 to 4 are objective type. Each question carries 5 marks.  
                    (iii) Internal options are given in question No. 5  to question No. 20.  
                    (iv) Question No. 5 to 8 are assigned 2 marks each and answer should be given in       
                               30 words each.  
                    (v) Question No. 9 to 12 carry 3 marks each and answer should be given in 75  
                               words.  
                    (vi) Question No. 13 to 17 carry 4 marks each and answer should be given in 120  
                               words.  
                    (vii) Question No. 18 to 20 carry 5 marks each and answer should be given in 150 
                               words.  
                    (viii) Question No. 19 is related to fill in the map of  the world.  
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iz-1 lgh fodYi pqudj fyf[k,&  ¼5½¼5½¼5½¼5½    

 ¼v½   Hkkjr ds fdl jkT; esa lk{kjrk vf/kd gS & 
         (i)     e/; izns’k                            (ii)     fcgkj  
         (iii)    dsjy                                (iv)     mÙkj izns’k  

 

 ¼c½   Hkkjr dk /kkfeZd uxj gS & 
         (i)     fnYyh                                (ii)     okjk.klh ¼cukjl½ 
         (iii)    Hkksiky                               (iv)    eqEcbZ  

 

 ¼l½   izkFkfed fØ;k dyki ls lEcfU/kr gS & 
         (i)     i'kqikyu                              (ii)    dkxt cukuk   
         (iii)    diM+k cukuk                        (iv)    v/;kiu djuk   

 

 ¼n½   fHkykbZ bLikr la;a= fdl ns’k ds lg;ksx ls LFkkfir gS & 
         (i)     lksfo;r :l                         (ii)    if’pe teZuh    
         (iii)    fczVsu                               (iv)    Ýkal    

 

 ¼b½   ok;q e.My esa lcls vf/kd ek=k esa xSl gS & 
         (i)     fu;ksu                               (ii)    vkWDlhtu     
         (iii)    dkcZu Mk;vkWDlkbM              (iv)   ukbVªkstu    

 

 Choose the correct option –   

 (A)    Which state in India has the highest literacy -   

         (i)     Madhya Pradesh               (ii)    Bihar      

         (iii)    Kerala                               (iv)   Uttar Pradesh   

 

 (B)    Holy city in India -  

         (i)      Delhi                                 (ii)    Varanasi (Banaras)     

         (iii)    Bhopal                              (iv)    Mumbai 

 

 (C)    Related to primary activities -       

         (i)     Animal Husbandry            (ii)    Paper Manufacturing      

         (iii)   Clothes Making                 (iv)   Teaching  

 

 
(D)     Which country has collaborated in the construction of       

          Bhilai steel plant?       

         (i)     Soviet Russia                     (ii)    West Germany        

         (iii)   Britain                                 (iv)   France   

 

 (E)    Which gas is present in abundance quantity in air -  

         (i)     Neon                                  (ii)    Oxygen       

         (iii)   Carbon dioxide                   (iv)   Nitrogen 
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iz-2 fjDr LFkkuksa dh iwfrZ dhft, &  

¼v½  ekuo Hkwxksy ds tUenkrk -----------------------------------------------------------------gaSA  

¼c½  fo’o esa tula[;k dh n`f"V ls Hkkjr dk --------------------------LFkku gSA  

¼l½  Hkkjr dk ekupsLVj -----------------------------------------------dks dgk tkrk gSA  

¼n½  tsd vkWQ vky VªsM --------------------------------------------------------dks dgrs gSaA 

¼l½  lalkj dh lcls Å¡ph lM+d eukyh ls -----------------------------rd gSA  

Fill in the blanks –  

(a) The father of Human Geography is ………..……………….. 

(b) India is the …………… most populated country in the world. 

(c) ……………………...……is called the Manchester of India.  

(d) ……………………………... is called the Jack of all Trades.  

(e) Manali to ………………road is the highest road of the world.   

¼5½¼5½¼5½¼5½    

    

iz-3 lgh tksfM+;k¡ feykb, &  

   ¼v½              ¼c½ 

¼v½ esxkyksiksfyl     (i) if’pe caxky  

¼c½ lsU; uxj      (ii) gthjk&fot;iqj&txnh’kiqj  

¼l½ twV      (iii) dkyh feV~Vh  

¼n½ dikl      (iv) yanu  

¼b½ lcls yEch xSl ikbi ykbu  (v) egw 

Match the following –  

  (A)      (B) 

(a) Megalopolis    (i) West Bengal 

(b) Defence town     (ii) Hazira-Vijaipur-Jagdishpur  

(c) Jute       (iii) Black soil  

(d) Cotton      (iv) London  

(e) The longest gas pipeline  (v) Mhow   

¼5½¼5½¼5½¼5½    
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iz-4 ,d okD; esa mÙkj nhft, &  
¼v½ Hkkjr dh LFkkukUrjh Ñf"k dk nwljk uke fyf[k,A  
¼c½ lkbcsfj;k dh thoujs[kk fdls dgrs gaS\ 
¼l½ baVjusV dk iwjk uke fyf[k,A  
¼n½ /ofu iznw"k.k fdls dgrs gSa\ 
¼b½ mPp izksVhu ;qDr frygu Qly dk uke fyf[k;sA   
Answer in one sentence - 
(a) What is the second name of Shifting Agriculture in India? 

(b) What is the life line of Siberia?  

(c) Write the full name of Internet. 

(d) What is Sound Pollution? 

(e) Which is a highly proteinaceous oil seed crop? 

¼5½¼5½¼5½¼5½    

 

iz-5 ekuo Hkwxksy dh dksbZ ,d ekU; ifjHkk"kk fyf[k,A  
Write any one definition of Human Geography.  

vFkokvFkokvFkokvFkok@@@@ OR 

dq- bZ-lh- lsEiy fdl ns’k dh ekuo Hkwxksy osÙkk Fkh\ 

Ku. E.C. Semple was a Human Geographer from which country?   

¼¼¼¼2222½½½½    

 

iz-6 xzkeh.k vf/kokl fdls dgrs gSa\  
What is Rural Settlement?  

vFkokvFkokvFkokvFkok@@@@ OR 

uxjh; vf/kokl fdls dgrs gSaa\  
What is Urban Settlement?  

¼¼¼¼2222½½½½    

 

iz-7 iqjok rFkk xk¡o esa nks vUrj fyf[k,A  
Write any two difference between Poorva and Village.  

vFkokvFkokvFkokvFkok@@@@ OR 

rhjuqek izfr:i cLrh dk js[kkfp= cukb,A 
Draw a diagram of the Arrow Pattern Settlement.  

¼¼¼¼2222½½½½    

 

iz-8 i;kZoj.k iznw"k.k dk vFkZ fyf[k,A 
Write the meaning of Environmental Pollution.  

vFkokvFkokvFkokvFkok@@@@ OR 

ok;q iznw"k.k ds dksbZ nks dkj.k fyf[k,A  
Write any two reasons of Air Pollution. 

¼¼¼¼2222½½½½    
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iz-9 rfeyukMq xka/kh QkeZ dh dksbZ rhu fo’ks"krk,a fyf[k,A  
Write any three characteristics of Gandhi farm of Tamil Nadu.   

vFkokvFkokvFkokvFkok@@@@ OR 

,d vPNs cUnjxkg dh rhu fo’ks"krk,a fyf[k,A  
Write any three characteristics of a good seaport.  

¼¼¼¼3333½½½½    

 

iz-10 Hkkjr esa ty lalk/ku ds laj{k.k gsrq dksbZ rhu mik; fyf[k,A       

Write any three measures for the conservation of water resource in 

India.  

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjr esa [kfut lalk/kuksa ds laj{k.k gsrq dksbZ rhu mik; fyf[k,A          
Write any three measures for the conservation of mineral resources 

in India?   

¼¼¼¼3333½½½½    

 

iz-11 lM+d ifjogu ds dksbZ rhu egRo fyf[k,A       

Write any three Importance of Road Transportation.    

vFkokvFkokvFkokvFkok@@@@OR 

jsy ifjogu ds dksbZ rhu ykHk fyf[k,A          

Write any three advantages by Railway Transport.  

¼¼¼¼3333½½½½    

 

iz-12 Hkkjrh; ouksa ls gksus okys dksbZ rhu vizR;{k ykHk fyf[k,A       

Write any three Indirect advantages by Indian Forest.      

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjrh; ouksa ds laj{k.k ds dksbZ rhu mik; fyf[k,A          

Write any three measures for the conservation of forest in India?  

¼¼¼¼3333½½½½    

 

iz-13 tula[;k ds forj.k ,oa ?kuRo dks izHkkfor djus okys dksbZ pkj dkjd fyf[k,A    

Write any four factors affecting Distribution and Density of 

Population?     

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjr esas tula[;k o`f) dks jksdus ds dksbZ pkj mik; fyf[k,A          

Write any four measures to control the Population Growth in India.  

¼¼¼¼4444½½½½    
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iz-14 O;kolkf;d Ñf"k D;k gS\ bldh dksbZ rhu fo’ks"krk,a fyf[k,A       
What is Commercial Farming? Write its any three characteristics.    

vFkokvFkokvFkokvFkok@@@@OR 

y?kq m|ksx ,oa o`gn m|ksx esa dksbZ pkj egRoiw.kZ vUrj fyf[k,A             

Write four main differences between the small scale and large scale 

Industries.  

¼¼¼¼4444½½½½ 

iz-15 iukek ugj ds dksbZ pkj O;kikfjd egRo fyf[k,A       
Write any four importance of Panama Canals in trade.     

vFkokvFkokvFkokvFkok@@@@OR 

Lost+ ugj ds dksbZ pkj O;kikfjd egRo fyf[k,A              
Write any four importance of Suez Canal in trade.  

¼¼¼¼4444½½½½ 

iz-16 Hkkjrh; tula[;k dh lkekU; fo’ks"krk,¡ fyf[k,\ dksbZ pkj       
Write any four characteristics of Indian Population.     

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjr esa izokl ds fdUgha pkj dkj.kksa dks fyf[k,A          
Write any four reasons for population migration in Indian.  

¼¼¼¼4444½½½½ 

iz-17 egkjk"Vª esa lwrh oL= m|ksx ds dsUnzh;dj.k ds dksbZ pkj dkj.k fyf[k,A      

Write any four reasons for location of cotton cloth Industry in 

Maharastra.     

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjr dk :j fdl vkS|ksfxd {ks= dks dgrs gSa vkSj D;ksa\         

Which Industrial area is called Rur of India and why?  

¼¼¼¼4444½½½½ 

iz-18 thfodksiktZu Ñf"k D;k gS\ bldh dksbZ pkj izeq[k fo’ks"krk,a fyf[k,A       

What is Subsistence Agriculture? Write any four main 

characteristics of Subsistence Agriculture.     

vFkokvFkokvFkokvFkok@@@@OR 

yksgk ,oa bLikr m|ksx ds fo’o forj.k dks fyf[k,A      

Describe the world – wide distribution of Iron and Steel Industries.  

¼¼¼¼5555½½½½ 
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iz-19 fo’o ds lhekdkj ekufp= esa fuEufyf[kr n'kkZb;s &  

(i) iukek ugj  

(ii) caxky dh [kkM+h    

(iii) esMkxkLdj  

(iv) yanu ls U;w;kdZ ty ekxZ      

(v) Vªkal dkWfUVusUVy jsy ekxZ  

Show the following in the outline map of the world - 

(i) Panama canal   

(ii) Bay of Bengal  

(iii) Madagascar 

(iv) Water route from London to New York        

(v) Rail route of Trans-Continental.  

vFkokvFkokvFkokvFkok@@@@OR 

fo’o ds lhekdkj ekufp= esa fuEufyf[kr n'kkZb;s &  

(i) vjc lkxj   

(ii) U;w;kdZ canjxkg  

(iii) dsiVkmu ls esycksuZ ty ekxZ  

(iv) Vªkal bf.M;u jsy ekxZ  

(v) Lost+ ugj  

Show the following in the outline map of the world - 

(i) Arabian Sea  

(ii) New York Port  

(iii) Cape town to Melbourne Water Route    

(iv) Trans Indian Rail Route  

(v) Suez Canal  

¼¼¼¼5555½½½½ 
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iz-20 Hkkjr esa xsgw¡ mRiknu ds fy, vko’;d HkkSxksfyd n’kk,¡ fyf[k,A       

Write the geographical conditions that are required for Wheat 

Production in India.     

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjrh; Ñf"k dh dksbZ ik¡p izeq[k leL;k,a fyf[k,A          

Write main Agricultural Problems of India. (Any five) 

¼¼¼¼5555½½½½ 

 

------------------------------ 


